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QUESTION 1

Which of the following statements makes sense? Select the correct answer.

A. | discovered the service | was looking for by using WS-Addressing to issue service search queries.
B. | discovered the service | was looking for by building a WS-BPEL process definition.

C. I discovered the service | was looking for by searching the UDDI-compliant service registry.

D. None of these statements make sense.

Correct Answer: C

QUESTION 2

Using WS-AtomicTransaction you wrap 3 SOAP-based Web services in a single transaction. When it is time to vote on
the outcome of the transaction, 2 of the services vote to commit the changes made during the transaction, but a vote
from the third service is not received. What will happen? Select the correct answer.

A. The changes are committed because the transaction is considered successful as long as no Abort votes are
received.

B. The changes are rolled back because the transaction is considered unsuccessful when there is a missing vote.

C. The changes are committed because the transaction is considered successful as long as one Commit vote is
received.

D. The changes are aborted because a transaction can only be considered successful when more than 2 Commit votes
are received.

Correct Answer: B

QUESTION 3

A establishes a common access point generally based on HTTP methods used by
. Select the correct answer.

A. WSDL definition, SOAP-based Web service
B. uniform contract, REST services

C. XML schemas, components

D. None of the above

Correct Answer: B

QUESTION 4
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MEP stands for: Select the correct answer.
A. Message Extension Pair

B. Message Exchange Pattern

C. Mixed Entry Platform

D. Mixed Elevation Program

Correct Answer: B

QUESTION 5

I would like to add two different WS-Policy definitions to my SOAP-based Web service and | would like to give the
service consumer the choice to comply to either policy. How can | do this? Select the correct answer.

A. Create a separate XML schema for each policy and attach both XML schemas to the service\\'s WSDL definition.

B. Create the two separate policies and group them in a policy alternative that is then associated with the service\\'s
WSDL definition.

C. Communicate each policy through a separate WS-Addressing SOAP header and let the service consumer choose
which header to use.

D. You cannot do this.

Correct Answer: B
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